7]
© xy=10
® y=—+2x-3

—2x24+3x+1

Q@ y=2
©y=x*-1
@ y=

.

ul

JAY




y = ax® 9|4 a o] Aigko] 2245 I 2o FHo| Yr,




3. HEToAETy= ——x2 of I = ol e H2?

® (12) @ (-2,3) ®) @ -3)
@ (3,27‘?) ® (-4,12)

<Dx:1°grq1,y=—§l oltt
@x=-29 1, y— -3 ot
@r=32, y=-2 ol

®x=-4<4 1 y=-12 0|t}




yl\
o3
|
l
9 |
SR
® 1 @% ® -1

&V



@ y=-2x* O] 22} x FHof tfste] tiA ol
® yof el ey =00t




6.

gAY F 82 A

filo

o Zefe,

rlo

H7
© y=a? A a ©| Aoko] F4:5 o] Folurt,
© y=22 Shy= 122 & x Fol thgto] Bjgolnt,
© y= 3 o TBE o2 BT mefold

© y—axwmvaf—% Zoltt,

v VvV v V¥
0
o o
Q@

0%
L
@)

Oy =2x 2ty = -2x2 0] x Zof tjsto] tfAo|c}.
@y =ax* 9 AHF2y Fo|t}.




el

S MMy =2 +3x -4 d®, F(f(F(1)) 2 &

1243-4=0

f(F (@) =r(0)
U

@

-4

W) = (£ (0) =s(-4) =0




BAMOR I A (1, -3) & A o] Tehmot
A 3 AW 910 A (o, - 27) 3 A 4 ABD 919 F (b, -27) &

@® -3 @ 3 ® o0 @)6 ® -6

A (m, - =3
A3 AT 919 B (xr F) < 0 0|2, A 4 AR 9o He
(x ) >0 o]

a=-3,b=3




P v =3 2wl y =3 otk y o x o BAAE

S

y 7F %2 of vl

9.

AL 12H?

Iy

EUetd o, a o] gt

pA
=2

ax? 9]

y:

— ™

— <t

— D

® o




10. thg o A4 TeE F 2 BESUA Zo] 4 FL A

=cte},

@ y=3x*-1 ©y=-x*-2

1 1

@y——§x2 @y—gx

@ y=-5x+ = ® y =542

> =

> HE. @

filo

x* O A7t sl Al Auigho] 7t

g

i




